| Efficiency vs Dxy |

0.2
X
©
#.18
>
D.16
D
D.14
©
0.12
0.
0.08
0.06
0.04
0.02

........................................................................

........................................................................

o+

Rati

0.95

)

0-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

—=— DQM_mkFit_TT_baseR3_noSel_ok

| Efficiency vs Dz |

—e— DQM_mkFit_TT_base_8iter_noSel_ok

—— DQM_mkFit_TT_Retrainv2_8iter_noSel_ok

N 0.2
©
9.18
oy
e
(&)
.14
(D)
0.12
0.1

..............

20730
TP dz (cm)

10




	Contents
	Page 1


